Question Scheme Marks AOs

4(@) z" +z7" = cosn@ +1sin né + cosnf —isin né Ml 2.1
=2cosnf* Al* 1.1b
2
(b) (z+z_1)4 =16cos* @ Bl 2.1
(Z+z_l)4=z“+422+6+4z_2+z'4 Ml 2.1
=24+z"4+4(zz+z_2)+6 Al 1.1b
=2c0546+4(2c0s260)+6 M1 2.1
cos*O= %(cos 40 + 4cos 260 + 3)* Al* 1.1b
&)
(7 marks)
Notes:
€) _ _
M1: Identifies the correct form for z” and = and adds to progress to the printed answer
Al1*: Achieves printed answer with no errors
(b)
B1l: Begins the argument by using the correct index with the result from part (a)
MI1: Realises the need to find the expansion of (z +z7! )4
Al: Terms correctly combined
MI1: Links the expansion with the result in part (a)
A1*: Achieves printed answer with no errors




